Critical Questions Related to Evaluating Different Turbine Operations at Bonneville Powerhouse II
1) Do we have turbine survival estimates for Bonneville Powerhouse II at differing operating points using performance testing data?  If not how to we evaluated?

2) What levels of flow ranges to we want to evaluate this over, 10 kcfs step or something larger.  Do we adequate data to do a fine scale analysis or will we need to use larger steps?

3) The adults used for the fall back studies, what was the source of those known source fish, ie mix of transport and in river or solely one or the other.  What effect does using these fish have on estimating fall back, re-assentation, and final fate?  How can we account for this in the modeling or do we need to?
4) How does adult passage change with flow swings between the powerhouses and are there thresholds at significant change.  I am having Dave B (FPC) take a look at this one 

5) Verify the operations that occurred during the evaluation that estimated the Bonneville bypass survival.  Does this estimate capture differing turbine operations or when screens were pulled?
